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+ T 31}5( N 7 A = (1)
. i Al 7S %
WO 4 R ww | w B | £ R (Wamm| ¢ B | £ R |Bak| FH | E R
(m?) (m?) (m®) (m®) (m®) (m?) (m?) (m?) (m®)

NO. 0 NO. 0 + 0. 00 0. 00 0.57 1.95 0. 06

NO. 1 NO. 1 + 0.00 20. 00 0.32 0. 45 9.00 1.77 1. 86 37. 20 0.06 0. 06 1. 20
NO. 2 NO. 2 + 0. 00 20. 00 0.12 0.22 4. 40 1.31 1.54 30. 80 0. 06 0. 06 1. 20
NO. 3 NO. 3 + 0. 00 20. 00 0. 00 0. 06 1. 20 1.62 1. 47 29. 40 0.23 0.15 3. 00
EEND 0. 00 0. 00 0. 00 0.59 1.11 0.23 0. 23

NO. 4 NO. 4 0.00 20. 00 0.02 0.01 0. 20 0.59 0.59 11. 80 0.14 0.19 3. 80
NO. 5 NO. 5 0. 00 20. 00 0. 87 0.45 9.00 0.79 0.69 13. 80 0. 00 0. 07 1. 40
NO. 5+10. 0 NO. 5 10. 00 10. 00 0. 87 0. 87 8. 70 0.79 0.79 7.90 0. 00 0. 00

=i 0.00 0. 47 0. 67 0. 47 0.63 0. 00 0. 00

NO. 6 NO. 6 + 0. 00 10. 00 0.47 0. 47 4.70 0. 47 0. 47 4.70 0. 00 0. 00

NO. 7 NO. 7 + 0. 00 20. 00 0. 30 0. 39 7.80 0. 20 0.34 6. 80 0. 00 0.00

NO. 8 NO. 8 + 0. 00 20. 00 0.77 0.54 10. 80 0.53 0.37 7.40 0. 00 0. 00

NO. 8 NO. 8 + 15. 50 15. 50 0.56 0. 67 10. 39 0.67 0. 60 9.30 0. 00 0.00

SRk 175. 50 66. 19 159. 10 10. 60




+ T w = 7 A + (2)
- ] i T
WO 4 R ww | w B | £ R (Wamm| F B | £ R | Ba] FH | E R
(m® (m% (m”) (m% (m?) (m”) (m® (m® (m”)

NO. 0 NO.O +  0.00 0. 00 1.61

NO. 1 NO.1 +  0.00 20. 00 1. 65 1.63 32. 60

NO. 2 NO.2 +  0.00 20. 00 1.22 1. 44 28. 80

NO. 3 NO.3 +  0.00 20. 00 1.31 1.27 25. 40

[a] At 0. 00 0. 49 0. 90

NO. 4 NO. 4 0.00 20. 00 0. 49 0. 49 9.80

NO. 5 NO. 5 0. 00 20. 00 0.55 0.52 10. 40

NO.5+10.0  |NO.5 10. 00 10. 00 0.55 0.55 5. 50

GBI 0. 00 0. 63 0.59

NO. 6 NO.6 +  0.00 10. 00 0.63 0.63 6. 30

NO. 7 NO.7 +  0.00 20. 00 0. 46 0.55 11. 00

NO. 8 NO.8 +  0.00 20. 00 0.59 0.53 10. 60

NO. 8 NO.8 + 15.50 15. 50 0.58 0.59 9.15

aar 175. 50 149. 55
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UBL T Fr L
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UBL i £
(3f&300C) L= 30.00 +  30.00 - 60.00 | m 60. 0
a7 Y—hrEN= (115,00 +  55.00 +  60.00 )
+ 050 — 23.00 = 437.00 | # 437.0

T —F o EN= ( 115.00 + 55.00 +  60.00 )
=~ 10.00 = 23.00 | #% 23.0
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ZERREY YA 7 VL
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Py A= 0.560 X 10.000 5.600 | m? 5. 60
(RC-40, t=10cm)
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ZERREY YA 7 VL
A" —K | V= 0.300 X 0.050 X 10.000 = 0.150 | m® 0.15
a7 U—Fh
(18-8-25BB)
e L& | V= 0.330 X 0.030 X 10.000 = 0.099 | m® 0. 10
(1:3)
FLHERS A= 0.530 X 10.000 = 5.300 | m? 5. 30
(RC-40, t=10cm)
FLmEFEIE A= 0.530 X 10.000 = 5.300 | m? 5. 30
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SHEGREY YA 7 B
A2 N—FK | V= 0.300 X 0.050 X 10.000 = 0.150 | m® 0.15
a7 U—Fh
(18-8-25BB)
HrE L XL | V= 0.340 X 0.030 X 10.000 = 0.102 | m® 0.10
(1:3)
FLHERS A= 0.540 X 10.000 = 5.400 | m? 5. 40
(RC-40, t=10cm)
R EEIE A= 0.540 X  10.000 = 5.400 | m? 5. 40
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t=bcm = . = . m° .
(t=5cm) A 1063. 27 1063. 27 z 1063. 3
A HFERTAE LY
—30, t=10cm = . = . m
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. @ J& ¥
HS 4 H El(im%)ﬁ e o ¥ [T e DA S T B RIS [T
(m) (m) (m?) (m) (m) (m?) (m) (m) (m?)
NO. 0 NO. 0 + 0. 00 0. 00 7.00 7.00
NO. 1 NO. 1 + 0.00 20. 00 7.00 7.00 140. 00 7.00 7.00 140. 00
NO. 2 NO. 2 + 0. 00 20. 00 7.00 7.00 140. 00 7.00 7.00 140. 00
NO. 3 NO. 3 + 0. 00 20. 00 6. 36 6. 68 133. 60 6. 36 6. 68 133. 60
NO. 4 NO. 4 + 0. 00 20. 00 4. 08 5.22 104. 40 4. 08 5.22 104. 40
NO. 5 NO. 5 + 0.00 20. 00 5.08 4. 58 91. 60 5.08 4. 58 91. 60
NO. 6 NO. 6 + 0. 00 20. 00 5.52 5. 30 106. 00 5.52 5. 30 106. 00
NO. 7 NO. 7 + 0. 00 20. 00 5. 50 5.51 110. 20 5.50 b.bl 110. 20
NO. 8 NO. 8 + 0. 00 20. 00 7.80 6. 65 133. 00 7.80 6. 65 133. 00
NO. 8+15. 5 NO. 9 + 15. 50 15. 50 5.68 6. 74 104. 47 5. 68 6. 74 104. 47

el 175. 50 1, 063. 27 1, 063. 27




X JH]
(A, ME15cm, FEHR)
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L

L

(IEAMAR)
170.00 +  155.00 = 325.00
i A
L = 325.00
(Fy hZ7A42)
5.00 4+  5.00 = 10. 00

$%¢No. 5+10fFUTHUfHiE © L=5. Om, No. 8+5(FITHUf1iE : L=5. Om
> = 10. 00

325.0
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M H» 2 > 7 U — b (10m%4 1)
4 PR At A =SP VAR ¢
a7 U—k | V= 0.500 X 0.100 X 10.000 = 0.500 | m® 0. 50
(18-8-25BB) SOELINE - 0. 5m
H ikt A= 0.500 X 0.100 X 1.000 = 0.050 | m® 0. 05

(z7244}, t =10mm)
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AtRELD
25. 39

AHRELY
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REEMEUEL L
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FEEEUEL L0
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BOERE LD
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H iE L w = = H =
. B H a2 27 U — b7 AT 7L L
R 4 R | w B | kR | W | F B | m | W | FH | om R
(m?) (m?) (m?) (m) (m) (m?) (m) (m) (m?)
NO. 0 NO.O +  0.00 0. 00 0.11 7.25
NO. 1 NO.1 +  0.00 20. 00 0.21 0.16 3. 20 7.95 7.25 145. 00
NO. 2 NO.2  +  0.00 20. 00 0.11 0.16 3. 20 7.25 7.25 145. 00
NO. 3 NO.3 +  0.00 20. 00 0. 06 0. 09 1. 80 7.00 7.13 142. 60
[a] At NO.3 + 0. 00 0. 00 0. 00 0.03 4. 60 5.80
NO. 4 NO.4 +  0.00 20. 00 0. 00 0. 00 4. 60 4. 60 92. 00
NO. 5 NO.5 +  0.00 20. 00 0. 00 0. 00 7.60 6. 10 122. 00
NO.5+10.0 |NO.5 +  0.00 10. 00 0. 00 0. 00 7.60 7. 60 76. 00
[FI AT 0. 00 0. 44 0.22 5. 25 6. 43
NO. 6 NO.6 +  0.00 10. 00 0. 44 0. 44 4. 40 5. 25 5.25 52. 50
NO. 7 NO.7 +  0.00 20. 00 0.15 0. 30 6. 00 5. 50 5.38 107. 60
NO. 8 NO.8 +  0.00 20. 00 0. 24 0. 20 4.00 7.80 6. 65 133. 00
NO.8+15.5 |NO.8 + 15.50 15. 50 0.11 0.18 2.79 5. 80 6. 80 105. 40
aar 175. 50 25. 39 1,121.10
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